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Answer either in English or in Assamese.
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Answer questmn numbers 1, 2 and 3 and any Jour
: . from the rest.

'1ze3wmwﬁmw1im
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1. (a) Choose the correct answer :
QG m om0 2.
(i)’ Which of the deciles are less than the
Ist quartile ? ' 1

PR RO Feliee 2o pudfinrets e

(@ D, and D, (Dl o D,)
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(b) D, and D, (D, &% D,) |
(¢) D, D, and D, (D,, D, W% D)
(d) None of the above (€+RT «BIe 7Z3)

(ii) - The decline in birth rate s attached fo the

component of the time series : 1
TR AR (2RI ot wfoe e
ST T s

(a) Secular trend (AR W)
(b) Seasonal variation (¥R wfZIel)
(é) Irregular variation (ﬂﬁﬂﬁv Il
(d) Cyclicai vaﬁaﬁon (ﬁfﬁﬂ Wﬁ«ﬂ)
(iii) If r =41, the two lines of regression
- oare: ' 1
W r=211 7, T @A o2
(a) Coincident (Wﬂ’ﬂ@) |
"(b) Parallel (m)"_

(c) Perpendicular to each other
(o> =)
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" (v) An index number is a : 1
(ﬁ) Special type of average
. Ry ol e
(b) Measure of relative changes
oo ARTSW WA
(c) Percentage relative .(“iWT Wﬁﬁ?ﬁ)
(d All of the above (€1 SIBRTEY
(b) Fill in the blanks :
A SR s ¢

(i) Population characteristics are called
' 1

ﬂﬂﬁa"taﬁw F @R =
(u) The independent variate values in
interpolation are termed as .1

wﬁa@mww
@ = |

(iii) The point (X,¥) is the _ of two
regression lines. 1
(X,y) Rt smeae QA qee |
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(c) (i) What are the two control charts for -
vanables ?7. - 1

(ii) If A is an impossible evént, what is the
probability of occurrence of the event

A ? I - ' . . . 1 *
R BB A A RSl ST
Co0T A TG RS R iR -
R - |
- (ii)) If the standard deviation of the series
X5 Xo ererees s X_is 0, what is the standard
deviation of the series 10x, 10x,, ..vens
X Xy ey X, CATIBR T Roew ©
@ 10x,, 10x,, ......., 10x_ (XTI T2
Rvew ﬁmﬂ CC LI
2. (a) What is the difference between parameter and
* statistic 2 - : 2
SR A Sweferg rers maﬁfj &e
(b) What is level of sngmﬁcance ? 2
W = R |
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(c) Mentlon any two propertles of regression
coefﬁc:lents ' 2

wmwawﬁm@tﬁ@mwn

(d) Mentlon the two broad ways of conn'ollmg the
quality of a product. - 2

7Y B g T T TR D A S
S@Ed | |

(¢) Write down the probability distribution of the

number of heads coming when three coins

- are tossed together . 2
%ﬁmqmmﬂeﬂﬁaﬁtﬁﬁﬁ (oI 7 |
- IRYR TSRS IoC6! o)

Answer any four of the following questions :
oo R O GGt ee Bew B ¢ 5x4=20

(a) In a distribufion AM = 65, Median =70 and
the coefficient- of skewness = —06. Find
mode and coefficient of variation.

B B TG = 65, TGN = 70 WF T EAY
i = - 061 ITTT AIF [oad olieF [
=1
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(b) Write a note on iht_a importance of statistics
in commerce.
L aifitere ARPRY ReR aweq esi e @Bt i

(c) A candidate is called for an interview for three
- different posts. For the first post, there are
- 12 candidates, for the second there are 15
candidates and for the third there are 10

candidates. Find the probability of his getting
at least one post.

T CRR| AU A AR 12 o, RSRIOI

MY AW 15 T A TS otwg Qg 10 & ‘

AT wim Ao e Gy AR
Feike Rfa 3= o e

(d) Prove that the expectation | of a random
variable X is equal to the arithmetic mean

(e) Explam. brieﬂ? .the ‘use of diagrams in
presenting statistical datq

MRY! O Toglofs Baa T | 5’ .
JrYt 1A E&@s

8/4 (Sem-2) BUST ©)



(f) ' Explain the type one error and type two error
- associated with testing of statistical hypothesis.

ARPNRIT 48 TR S TivS AN
4P G6 OIF ROH PR L Iy I |

4. (a) Calculate mean and standard deviation for the

following distribution : 3+4=7
were iRl FHAOR AR MY AF T Koo
fefy =t ¢ :

profit (Rs. in lakh) ¢ 20-30 | 3040 | 40-50 | 50-60
|=re (@) TFre) 8

[No. of Companies :| 30 | 38~ | 62 | 8
AR FRY! | |
Profit (Rs. in lakh) : | 60-70 70-80 | 80-90 | 90-100
Me (AN TIS) & | |
No. of Companies : | 112 | 112 57 26
@rRTE RY

(b) Distinguish between primary data and

secondary data. 3 -
I_'Wwwmwmmmaﬁnﬁm |
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5. (a)

(b)

6. (a)

Discuss the advantages of sample survey over

census method. : _ 6
w‘fﬂwWwﬁWﬁwaﬁw
WWWl o

"Out of the following two lines of regression,

which one is the regression line of x on y
and which one is the regression line of y
omx? . _ 4
X+2y-5=0;2x+3y—-8=0

©T AT AT (PG x S G9T©
yﬁWﬁMWWy?BWxE_
TR Gt e

x_+2y—5=0“;-2x+3y¥8=0

What are assignable and chance causes of

‘variation in manufacturing process ? When

is a manufacturing process said to be under
Statistical quality control ? 5+1=6

Bl et wie. Gfve Ao e

meﬂqﬁﬁaww&ﬁ? .
QW&MWW%WW@H.
T S ot 2w 2



(®)

If 5% of electric bulb manufactured by a
company are defective, find the probability

- that in a sample of 100 bulbs (i) none is

defective (ii) 5 bulbs are defective.
[Given : e® = 0007] . 24+2=4
It @I B @ITNE Sedvm w4 R
AT 5% FHIS ZF, (908 1005 REgARIS

o efonf (Bre (i) e Fge R

- PR (i) SO FHYE Rgarfe =R ASiRe

7. @

(b)

R <=1 [T ez ¢ e = 0°007]

Calculate the coefficient of correlation from

the following bivariate data : - 6

wo7q F5q SRR #191 T @i P 3 3

< 11z]3]4]5]6|7[8] 910

y :|20{ 16| 14| 10]10| 9 | 8| 7| 6] 5

In a certain class, the average marks obtained
by 100 students in statistics was 72. The
average marks obtained by 70 male students
was 75. Determine the average marks obtained
by the female students. 4
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@I Bl (TR 100 &7 YA st

Rl (il 7939 9T SifReT 72| 70 &« QER
CAR AR ST Sifee 75 | QPR CARL 1%
T99 R T4

8. "(a) Fit a linear trend by the method of least square
to the following time series data : 6

Wﬁmwﬁ’rwﬂxaﬁaﬂmmﬁ

kA
Sales (Rs. incrorés) :| 7 | 10| 12| 14| 17
Rt (it T3re) |

Year : : ‘ | 12015

™ |

Sales (Rs. in crores) : 24
| Rt (s 1)

(b) Show that Fisher’s ideal index number
satisfies both time reversal test and factor
reversal test. _ 4

'WWWWWQQWW
W@WMWW%Wl
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9. (a) Calculate the overall cost of iiving index
- number from the following data : 4

wers - faat w,ww@mﬁﬁm.
I S I]A S

Group of items  |Group index Group weight
A coffe AR oMo [ AN AR
Food items 250 45
AR |
Clothing (3%) 320 20
Fuel (3&9) '190 5
House rent _(ﬂi‘é"ﬁi) 150 15
Others (SFUI0) 300 15
(b) Write short notes on -any fwo : 3x2=6
R I B o3 G fo e
(i) Null -hypothesis and Alternative
B hypothesis.
_ Re o wiw Rem avw|
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@ii) :Coefficient of variation. |
" (iif) Addition theorem of probability.
i) I.ili:ility of .intefrpolaﬁon in commerce. »
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